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§ OpraHusaluy u
§“POBCHCH“”“C“”T"HHH cam.p.c |30]30]30}|30}| 30|30]30|30] 30]|30]30]30]30 2C 30|30]30|30)]30]30]30]30]30]30 o) oa | g g | BKP| BKP | BKP | BKP | BKP| BKP
1 COPEBHOBAHUIH cObaK
b= Tlponssoncraennas 00s13.y4.4 36,0 ©C 36,0 ) o | | 1 | BKP| BKP | BKP | BKP | BKP| BKP
= | npakruka (o npodumo
= CHENUATBHOCTH) cam.p.c 2C | | | 1 | BKP| BKP | BKP | BKP | BKP| BKP
Ynpasnenue
= CTPYKTYPHBIMH obs3.yu.u| 60 60 60| 60| 60 | 60] 60| 60| 60| 60]60| 60| 60 2C 60| 60| 60| 60)]60]|60|60]60]|60] 60 | oo | g g | BKP| BKP | BKP | BKP | BKP| BKP
8 TOJPA3ACTCHUAMU
'f:‘( OpraHu3alum
= |(npeanpustus) n Manbiv cam.p.c | 30130 30]|30| 30|30]30|30] 30| 30]30]30]| 30 2C 30|20]30f20)]30]20|30]20|30]20 o) g | | g | BKP| BKP | BKP | BKP | BKP| BKP
TpeINpUATHEM
s 06s13.y1.4 36,0 3C | oo | | o | Bke| BKP | BKP | BKP | BKP| BKP
= VYuebHast mpakTHKa
» cam.p.c 2C | g | | 114 | BKP| BKP | BKP | BKP | BKP| BKP
0 IIponssoacreennas 00513.y4.4 2C 36,0 | o | | 1 | BKP| BKP | BKP | BKP | BKP| BKP
= | npakruka (1o npodumo
= CHeLMaTbHOCTH) camp.c 3¢ | o | | o | Bke| Bke | BKP | BkP | BKP| BKP
= TexHonorus
S| semonscnms pasor o 00513.y4.4 2C 18,0| 18,0 18,0| 18,0 18,0 18,0| 18,0 18,0| 18,0| 18,0 na| oo | g g | BKP| BKP | BKP | BKP | BKP| BKP
<
'f:‘( npodeccun 18621
s Cobaxosox cam.p.c 3C 90]90]90]90|90]90]90]90]90]90 m| na | | np | Bke| BKP | BKP | BKP | BKP| BKP
8 00s13.y4.4 2C 36,0 o) o | | 14 | BKP| BKP | BKP | BKP | BKP| BKP
= VuyeOHas npaKkTHKa
i< cam.p.c 2C IO 4 | 0| LT | BKP| BKP | BKP | BKP | BKP| BKP
< TIpousBoacTBeHHas 00513.y4.4 2C 36,0 1A I | 11| I11 | BKP| BKP | BKP | BKP | BKP| BKP
= | npaktuka (no npodumo
= CHEUUANBbHOCTH) cam.p.c 2C I 4 | 0| L1 | BKP| BKP | BKP | BKP | BKP| BKP
Beero uac. B nepemo 36.0] 36.0] 36.0] 36.0] 36.0 | 36.0 36.0] 36.0] 36.0| 36.0]36.0] 36.0 36.0| 36.0] 36.0] 36.0 36.0] 36.0] 36.0] 36.0] 36.0] 36.0] 36.0] 36.0] 36.0 36.0] 36.0] 36.0] 36.0 36.0
00s13aTenbHOM Harpysku
Beero uac. » nexeno 18.0| 18.0] 18.0| 18.0| 18.0 | 18.0 18.0] 18.0 18.0] 18.0]18.0] 18.0] 28.0 180180 180f 180| 180] 180] 180] 180] 180] 180
00s13aTeNbHOI HATPY3KH
Bcero 4acos B Heaemo 54.0| 54.0] 54.0| 54.0] 54.0 | 54.0] 54.0| 54.0| 54.0 | 54.0]54.0] 54.0] 54.0] 36.0] 36.0| 36.0 54.0| 54.0] 54.0| 54.0| 54.0| 54.0| 54.0] 54.0| 54.0| 54.0] 36.0| 36.0| 36.0| 36.0
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